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=LA oA
IBGL | A& EE | BBEER(mM) IBGL | Al EE | BHBEER(mM)

1 L HER 15,932 1 ol &R 400

2 SR L& 13,500 2 | RTA4F) &R 500
3 KRN AL &R 13,250 3 XA JL &R 750
4 SR NELL 13,100 4 ) JLEB 1,000
5 P K| B[4 12,600 4 2REN L&D 1,000
6 =kl AL &R 12,300 4 RN FaEp 1,000

7 =RII NEL 12,000 7 SF I &R 1,100
8 XE& &R 11,900 8 R L 1,160
9 ;SN 3kl 9,315 9 AR &R 1,200
10 iR AL &R 8,500 10 ==0E Bl NELL 1,292
2. HER2%ANIOFEEENYT10 XER259F 10 325 B RE

AL LA I I AL A

NE AL Al EEE | REEEKmM) NE A2 eIl B | REEAKM)
1 AR J\NEL 54.24 1 xial L&D 0.14
2 teE HER 49.66 2 | R7A4HI &R 0.25
3 Ei5) 3kl 43.06 3 BB L 0.50
4 TR AL &R 42.09 3 FI &R 0.50
5 a1l L& 36.00 5 R 3kl 0.80
6 BRI JNELL 35.4 5 KR &R 0.80

7 KRN &R 31.61 7 K& wall L &R 1.27

8 hRE I J\ELL 28.41 8 AR L &R 1.42

9 R JNELL 23.85 9 i) &R 2.20
10 KRN L& 23.64 10 B 3kl 2.30




